
Subtraction Riddle

Math in English

6 7 4 10

Subtract and use the letters to decode
the riddle.

H=– 813

W=– 716 I=– 814

N=– 910 S=– 911

T=– 714 E=– 816

G=– 8

2 5 8 9 6 3 3 3 8 7

12 A=– 820

O=– 515 L=– 710

Why should you never give a balloon to Elsa from Frozen?



Subtraction Riddle

Math in English

6 7 4 10

Subtract and use the letters to decode
the riddle.

H=– 5813

W=– 9716 I=– 6814

N=– 1910 S=– 2911

T=– 7714 E=– 8816

G=– 48

2 5 8 9 6 3 3 3 8 7

12 A=– 12820

O=– 10515 L=– 3710

Why should you never give a balloon to Elsa from Frozen?
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